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Most decimal amounts are approximate. Most decimal amounts are approximate.

X Y X Y X Y X Y

1 8 2 6 -3 1 1 4

2 4 3 4 -1 3 2 2

4 2 6 2 1 -3 4 1

8 1 -2 -6 I 3 -1 -1 -4

-1 -8 -3 -4 -2 -2

-2 -4 -6 -2 -4 -1

-4 -2
-8 -1

1) XY=8 2) XY - 12 = 0
-3

1) Y=-x 2) 0 = 4 - XY

XY = 12 XY= -3
XY=4

X Y X Y
X Y X Y

1 5 ±5 0 1 -6 ±3.2 0
2 5/2 ±5.5 ±1

- 2 -3 ±4.2 ±2
4 5/4 ± 6.7 ±2 6 -1 ±6.5 ±4
5 1 -1 6
-1 -5 -2 3
-2 -5/2

-5/4
-6 1

-4
-5 -1 -

3) -XY=-5 4) XL 5y2 = 25 3) -3XY = 18 4) 1/10XL 1/5 y2 = 1
XY=5 XY= -6 XL 2y2 = 10

X Y X Y X Y X Y
±1.4 0 ±2.2 0 0 ±2 0 ±4
±1.8 ±2 ±2.6 ±3 ±2 ±3.2 ±2 ±4.9

±2.7 ±4 ±3.2 ±5 ±4 ±5.3 ±4 ±6.9

±3.7 ±6 ±4.2 ±8 ±5 ±6.4

5) 3X2 - y2 = 6 6) 5X2- 25 = y2 5) 2y2 - 3X2 = 8 6) y2 - 2X2 = 16,

OJ



26C

1-2) XY=4
X Y
1 4
2 2
4 1
-1 -4
-2 -2

-4 -1
see graph

3-4) XY =-6
X Y

1 -6
2 -3
3 -2
-1 6
-2 3
-3 2

see graph

7) -(-3) =_3_
2(2) 4

8) Y = 2(3/4)2 - 3 (314) + 2 = 718

9) on the graph

10) [1/3 Y = 213 X2 + 1/3] x 3

Y = 2X2 + 1

11) [2Y - 6X2 = -6] -;-2

Y = 3X2 - 3

12) [5(X - 1)2 + 5(Y + 2)2 = 500] -;-5
(X - 1)2 + (Y + 2)2 = 102
C=(1,-2) R=10

13) (X - 5)2 + (Y + 2)2 = 9

14-15) [9X2 + 9y2 - 36X - 36Y = 252] -;-9

X2 - 4X + 4 + y2 - 4Y + 4 = 28 + 8 = 36
(X - 2)2 + (Y - 2)2 = 62
C = (2, 2) R = 6

16) AC2 = [-2 -(-2)]2 + [-2 - 5]2 = 49

AC = .J49 = 7

-2 - 2 5 - 2 ) (2 1 1 )17) (-2-'-2- = - , """'2"

18) Y=X+b=>(3)=(-2)+b

5=b Y=X+5

19) X=1,Y=-1 C=(1,-1)

Y = ± 1 from center of ellipse
X = ± 3

20) on the graph

5-6) X2 - y2 =3
X Y

~t1.7 a
t2 1

~t2.7 2
t2 -1

~T2.7 -2
t4.4 4
t4.4 -4
see graph

26D

#2-4 I I I I I I I l~rn I 1-2) XY = -10 3-4) XY=8 5-6) X2 - y2 = 2
X Y X Y X Y #2-4

1 10 1 8 ~t1.4 a ITTTl24TY1 1 \ 121 1 1 1 1 1 I 2 -5 2 4 ~t1.7 1
5 -2 4 2 -1

..
-1 10 8 1 ~t3.3 3
-2 5 -2 -4 -3
-5 2 -4 -2 ~t5.2 5

ITJ:Il4:

see graph see graph -5

7) ~=_4_
see graph

#6 II III 1114111 1111 I I 2(-3/4) 3 #6

8) Y = -3/4(4/3)2 + 2 (4/3) = 413

9) on the graph

10) -4Y = 4X2 - 8X + 1 => Y = _X2+ 2X - 1/4
-(2)

--=1
2(-1)

Y = _(1)2+ 2(1) -1/4 = 314

#9 II III 11141 i 11111 I I 11) Y = _X2- 2 #9

vertex (0, -2)

12) [2/3(X + 2)2 + 2/3(Y + 2)2 =54] (3/2)
(X + 2)2 + (Y + 2)2 = 92
C = (-2, -2) R =9

13) (X - 4)2 + (Y - 3)2 = 82

14-15) X2 + y2 - 2Y + 1 = 3 + 1
1°tutt I (X - 0)2 + (Y - 1)2 = 22 #10-11#10-11 I I III I ,I I II I I

C=(0,1) R=2

16) BC2 = (-2 - 3)2 + (-2 - 1)2 = 25 + 9 = 34
BC = 54

17) ( -2; 3 , - 2; 1 ) = (+ '_+)
18) 2Y = -5X + 3 => Y = -5/2 X + 312

#20 II I I I 111411 I I I I I I I m = -5/2 so perpendicular is 215 #20
Y = 2/5 X + b => (2) = 2/5 (1) + b

1 3/5 = b Y=2/5X+13/5

19) X = 2, Y =-1 C = (2, -1)

Y = ± 2
X= ± 4

from center of ellipse

20) on the graph

110

(j)
Q.
S.
o·
:::J
C/l
I\)
eno

'"eno
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1-2) XY=-12 3-4) XY=3 5-6) 3X2 - 2y2 = 6 X(2X - 5) = 12
X Y X Y X Y #2-4

2X2 - 5X - 12 = 0 (Y - 4)2 = 4
2 -6 112 6 =t1.4 0 (2X + 3)(X - 4) = 0 yL8Y+16=4
3 -4 1 3 =t2.2 t2 2X+3=0 X-4=0 Y2-8Y+12=0..•
6 -2 3 1 =+3.6 t4 X=-3/2 X=4 (Y - 2)(Y - 6) = 0-2 6 -1/2 -6 -
-3 4 -1 -3 =t6.7 t8 2 I Y - 2= 0 Y - 6 = 0
-6 2 -3 -1 see graph (-3/2)Y = 12 (4)Y = 12

Y=2 Y=6
see graph see graph Y=-8 Y=3

I

7) ~=2 #6
1) XY= 12 2) (X - 4)2 + (Y - 4)2 = 4

2(-1) Y=2X-5 5X= 20
Solutions: (-1.5, -8), (4, 3) X=4

8) Y = _(2)2+ 4(2) - 4 = 0
Solutions: (4,2), (4, 6)

9) on the graph

4X2+ 9y2 -36=0 X2 + y2 4910) Y = -1/2 X2 + 1
_4X2 -4Y - 8 0 _X2+ 4y2 -16

11) [1/4Y=1/8XL1/2) 4 9Y2_4Y-44=0
I 5y2 _ 33

(-4)± ~(_4)2 - 4(9)(-44) .-Y=1/2X2-2
#9 Y = ±2.57

2(9)
12) [1/2 (X + 2)2 + (Y - 3)2 = 32)2 X2 + (±2.57)2 = 49Y = 2.44, -2

(X + 2)2 + (Y - 3)2 = 64 or 82
(-2) = -X2-2

X2 = 42.4
C= (-2, 3) R=8

X= ±6.5X=O
13) (X + 2)2 + (Y + 2)2 = 52 3) 4X2 + 9y2 = 36 (2.44) = _X2- 2 4) X2 - 4y2 = 16 =:> _X2+ 4y2 = -16

-4.44 = X2 =:>
X2+ y2 = 4914-15) [4X2 - 32X + 64 + 4y2 - 24Y = 0).;. 4 Y = _X2- 2 =:> -4X2 - 4Y - 8 = 0 .

no real solution
Solution: (0, -2) Solutions: (6.5, 2.57), (6.5, -2.57),X2 - 8X + 16 + y2 - 6Y + 9 = 9 (-6.5,2.57), (-6.5, -2.57)

(X - 4)2 + (Y - 3)2 = 32 #10-11

C= (4, 3) R=3

X = 2y2 - 5
16) CD2 = [-2 - 4]2 + [-2 - (-4)]2 = 36 + 4 = 40

X = _2y2_1 I (X + 4) = 1/2 X2 + 3
CD = 2.J1O

2X= -6 1/2 X2 - X - 1 = 0
X =-3

(_1)±~(_1)2 -4(1/2)(-1)17) ( -2; 4 , - 2~ 4 ) = (1, -3 )
(-3) = _2y2 - 1 2(112)

18) Y=1/3X-3=:>m=1/3 3 = 2y2 + 1 X = 2.73, -.73~#20 Y =± 1 Y = 2.73 + 4 = 6.73(1) = 1/3 (4) + b
Y = -.73 + 4 = 3.27-1/3 = b Y = 113 X -1/3

5) X=2yL5 6) Y = 1/2 X2 + 3 en19) C=(-1,2)
X = -2y2_1 Y=X+4 0

~Y= ± 3 from center of ellipse Solutions: (-3,1), (-3, -1) Solutions: (2.73, 6.73), (-.73, 3.27) o·
\ :::lX= ± 2 I (j)

I\)
en20) on the graph m
N-..J
»


